a TAC-TEC
ident 1 ident 2 Ccl21a Aire Fezf2 Stmn1 Tubb5 Hmgb2
logFC adj-p-val logFC adj-p-val logFC adj-p-val logFC adj-p-val logFC adj-p-val logFC adj-p-val
wk 2 ctl wk 10 1.82|] 1.51E-05 -0.92 0.04 -0.34 1 0.27 1 -0.50 1 -0.14 1
wk 4 ctlwk 10 2.20| 1.26E-05 -1.61| 4.96E-05 -0.63 1 0.4 1 -0.07 1 0.07 1
wk 6 ctl wk 10 1.47| 1.29E-06 -0.50 1 -0.67 0.26 -0.21 1 0.19 1 -0.21 1
wk 10 ctl wk 10 -0.54 1 0.26 1 -0.13 1 -0.11 1 -0.13 1 0.04 1
ctl wk 2 ctlwk 10 -0.14 1 0.01 1 -0.24 1 -0.03 1 -0.32 0.06 -0.06 1
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